Additional Figure 3

Population level distances for each strain
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BC neurons (N=188)
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Comparison of population level distances across the strains for 3 stimulus sets and 4 distance metrics

=245)

C57 neurons (n

C57 neurons (n = 190)

C57 neurons (n = 80)

population level distance (stim set 1)

p correlation dist strain CC = 0.81041 p = 0.0044651
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BC neurons (n = 161)

cosine dist strain CC = 0.80653 p = 0.004818

euclidean dist strain CC = 0.80868 p = 0.00462

6 S euclidean dist strain CC = 0.67898 p = 0.030849
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